-~ 8

XYZy=95.04 , 100.0 , 108.89
Ar=25@ -a;n)Y
By= 258 (b -by ) Y
El = Zo {(EXC)/Y]

1 =020 (2
80=1,b0=-0,4 G
% = 0,108, = 1,000
n = D65

B1 Parame-|
ter: N

Cag,1=IA+B,1"?

Name and spectral range
Rm 570_770 ¥, 520_776m!
Gm 470_570 G, 380_570
Bm 380_520 M, 570_470
G, 520 570 M 570_520
10 optimal colours (0) Y,,=10Q, YN%()
8 of maximum (m) Cpg for D65

=100 max: 490_77(

XYZy=95.04 ,100.0, 108.89
Ar=25@-a0) Y

By =25B¢ (b~ b)Y

8y = ago [(X=x)/Y]

by =y [2M]
a,0=1,byy=-0,4 58
X =0,110,B = 0,800

n = D65 s
Cag,27[A2+B7]
Name and spectral ranges3
Rm 570_770 ¥, 520_770
Gm 470_570 G, 380_570
Bm 380_520 M, 570_470 25
G, 520 570 M 570_520

10 optimal colours (0) Y,,=100, Y\=0
8 of maximum (m) C,g for D65

By Parame-
100 ter: Y

12

=100 max: 490_77(

V L o Y M C
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:dnysaji rejwis ass

Parame-
ter: N

XYZy=100.0 , 100.0 , 100.0 By
Ay =256 -25 )Y
By= 258 (b -by ) Y
ag = ag [(x=xo)/Y]

by = byo [zA}
ayo=1,byy=-0,4 Gin

X =0,110B,= 1,000 A1
n=EO00 f
Cag1=A+B 100
Name and spectral rang

Rm 570_770 ¥, 520_7 Mn

Gm 470_570 G, 380_570
Bm 380_520 M, 570_470
G, 520 570 M 570_520 Bm
10 optimal colours (0) Y,,,=100, Y\=0

8 of maximum (m) C,g for EQ0 =100 max: 490_77d

XYZ,=100.0, 100.0, 100.0
Ay=25@-ap)Y
By=25B, (b~ by ) Y

2y = ago [(X=x)1Y]

b, = byg [zM
ay=1,b,p=-0,4 56
X = 0,110B, = 0,900
n=EO00

By Parame-|
100 ter: Y

Cag =IAF+BT?
Name and spectral range;3
Rm 570_770 ¥, 520_770
Gm 470_570 G, 380_570
Bm 380_520 M, 570_470
G, 520 570 M 570_520
10 optimal colours (0) Y,,=100, Y\=0
8 of maximum (m) C,g for EOO

=100 max: 490_77(

By= 2,58 (by - by ) Y
ag = ag [(x=Xc)/y]

by =byo [z
ayo=1,byp=-0,4

Xc = 0,110B, = 1,000
n = D5

P

0
Cag1=A+B1?
Name and spectral rangeg,
Ry 570_770 ¥, 520_770
Gm 470_570 G, 380_570
Bm 380_520 M, 570_470
G, 520 570 N, 570_520
10 optimal colours (0) Yyy,10=100, Yy 1
8 of maximum (m) Cyg for D50

=100 max: 495_77(

in chromatc value diagram(A,, By) min: 380_490 in chromatic value diagram (A,, B,) min: 380_490
CEX90-1N CEX90-2N

XYZy=96.42 , 100.0 , 82.49 B1 Parame- XYZy=96.42 ,100.0 , 82.49 By Parame-
A1=25@1-anY ter: N Ay=25@-20) Y 100 ter: Y

B, =2,5B (b, - bZn) Y
8 = A [(XXc)Y]

by = by [2/M]

890 = L,byg = ~0,4

X¢ = 0,1108, = 1,000
n = D50 P
Cag2=[A7 +B7]

12

Name and spectral rang&3 S @43
Ry 570_770 ¥ 520_770 o

Gm 470_570 G, 380_570 )

By 380 520 M, 570_470 23

Gy 520 570 M 570_520

10 optimal colours (0) Yyy,10=100 Yy 1

8 of maximum (m) C,g for D50 ~100 max: 495_77(

in chromatc value diagram(A,, By) min: 380_490 in chromatic value diagram (A,, B,) min: 380_490
CEX91-1IN CEX91-2N

XYZy=98.07 , 100.0 , 118.22 B1 Parame- XYZy=98.07,100.0, 118.22 By Parame-
A=256;-a)Y 109, ter: N Ay=256-ay) Y 100 ter: Y

B;=25B; (b; - bl,n) Y
ag = ag [(x=Xc)y]

by = by [2/)] [e™
80=1,b0=-0,4

X¢ = 0,110,B; = 1,000 A
n=C00 }
Cag1=A+B1? 100
Name and spectral range

Rm 570_770 ¥, 520_77G, Mo

Gm 470_570 G, 380_570
Bm 380_520 M, 570_470
G, 520 570 N, 570_520
10 optimal colours (0) Y,,,=100Q, Y,%nno
8 of maximum (m) Cyg for CO0

=100 max: 490_77(

B, =2,5B (b, - bZn) Y

8 = A [(XXc)Y]

by = by [2/M]
ap=1by=-04 57
X¢ = 0,1108, = 0,700
n=C00

CAB,ZZ[A22+822] vz
Name and spectral range53
Ry 570_770 ¥, 520_770
Gm 470_570 G, 380_570
Bm 380_520 M, 570_470 28
G, 520 570 N, 570_520

10 optimal colours (0) Y,,=100, Y\=0
8 of maximum (m) Cpg for CO0

-100 max: 490_77(

A1=25@ -a;n)Y
B1=2,5B¢ (b1 -by ) Y

a1 = a0 [(x-X)Y]

by =byo [z
ayo=1,byp=-0,4

Xc = 0,110B;= 1,000 Gm
n’= P4

ter: N

0

Chg =AY
Name and spectral ranggm
Ry 570_770 ¥, 520 770
Gm 470 570 G, 380_570
Bm 380 520 M, 570_470
G520 570 M 570_520
10 optimal colours (0) Y,,,=100Q Y\=0
8 of maximum (m) Cyg for P40

NLH6X30/6 X30ep ullleq-nyijagrel//

=100 max: 495_77(

in chromatc value diagram (A, By) min: 380_495 in chromatic value diagram (A,, B,) min: 380_495
CEX90-3N CEX90-4N
XYZ,,=100.93, 100.0 , 64.68 By Parame- XYZ,,=100.93, 100.0 , 64.68 Parame-

Ay=256,- az‘n) Y ter: Y
By=25B¢(by -y Y

8y = g0 [(XX)Y]

by =g [2/4]
80=1,b0=-04 5
X.=0,110B; = 1,300

n = P40 2
Cap 2=[Az +B7] 57
Name and spectral rangg2 1) 45
Ry 570_770 Y, 520 770

Gm 470 _570 G, 380_570 I
Bm 380 520 M, 570_470
G,520_570 M 570_520

10 optimal colours (0) Y,=10Q Y\=0

8 of maximum (m) C,g for P40

12

~100 max: 495_77(

in chromatc value diagram (A, By) min: 380_490 in chromatic value diagram (A,, B,) min: 380_490
CEX91-3N CEX91-4N
XYZ,,=102.06 , 100.0, 81.06 By Parame- XYZ,,=102.06 , 100.0, 81.06 Parame-

A=25@-a;)Y ter: N
By =2,5B; (b - by ) Y
a1 = g0 [(x-X)Y]

by =byo [z
ayo=1,byp=-0,4 Rn

X = 0,110B; = 1,000 Gon go AL
n=P00 2
Cag,1=[A1+B1]
Name and spectral rang€,
Rm 570_770 ¥, 520 770
Gm 470 570 G, 380_570
Bm 380 520 M, 570_470
Go520_570 M 570_520
10 optimal colours (0) Y,,,=100Q Y\=0
8 of maximum (m) Cyg for POO

12

=100 max: 495_77(

Ay=25@-ay)Y
By=25B¢(by -y Y
Ay = ago [(X=X)1Y]

ter: Y

Name and spectral rangg2
Rm 570_770 ¥, 520_770
Gy 470_570 G, 380_570
Bm 380_520 M, 570_470 25
G, 520_570 M 570_520

10 optimal colours (0) Y,=10Q Y\=0
8 of maximum (m) C,g for POO

by =0 [2/Y]

ay=1,by=-04 55 47

X =0,110,B; = 1,000 Az

n=pP00 , i t

Cap2=[Az +B7] 100
44

-100 max: 495_77(

B1=2,5B;(by—by ) Y
a1 = a0 [(xX)Y]

by = by [2)]
ayo=1,byy=-0,4
X¢=0,110,8, = 1,000
n=A00 , 212
Cap,1=[A1+B1] (ol
Name and spectral range
Ry 570_770 ¥, 520_770
Gm 470_570 G, 380_570
Bm 380_520 M, 570_470
G,520 570 N, 570_520
10 optimal colours (0) Y,,,=100, Y\=0
8 of maximum (m) Cpg for AOO

in chromatc value diagram (A, By)

YURWAR~/St"09°6YT 0ET//-dNY 10 8p°ulleg-nY 11'9ge)//-dnyuonewiolul [es1uyds)

=100 max: 500_77(
min: 380_500

in chromatc value diagram(A;, By) min: 380_495 in chromatic value diagram (A,, B,) min: 380_495
CEX90-5N CEX90-6N

XYZy=109.84 , 99.99 , 35.58 B1 Parame- XYZy=109.84 ,99.99 , 35.58 By Parame-
A=25@1-a10Y ter: N Ar=25@-a) Y 100 ter: Y

B, =2,5B; (b —by) Y
8 = g0 [(XX)]

b = byo [2/4]
ay=1,byy=-0,4
X.=0,110B,= 2,500 52
n=A0 , i
Cag,27[A2+B7]

Name and spectral ran
Rm 570_770 ¥, 520_
Gm 470_570 G, 380_570
Bm 380_520 M, 570_470
Go520_570 M 570_520 20
10 optimal colours (0) Y,,=100, Y\=0
8 of maximum (m) C,g for AOO

in chromatic value diagram (A,, B,)

=100 max: 500_77(
min: 380_500

in chromatc value diagram(A;, By) min: 380_495 in chromatic value diagram (A,, B,) min: 380_495
CEX91-5N CEX91-6N

XYZy=97.93, 100.0 , 118.95 B1 Parame- XYZy=97.93,100.0, 118.95 By Parame-
A=25@;-a10)Y 106 ter: N Ar=25@-a) Y 100 ter: Y

B1=2,5B¢ (by-by) Y
a1 = a0 [(xX)Y]

by = by (2] G
ayo=1,byy=-0,4

X¢=0,110,8, = 1,000 Ay
n'=Qo00 }
Cag,1=IA+B,T"? 100
Name and spectral range

Rm 570_770 ¥, 520_77C M

Gm 470_570 G, 380_570
Bm 380_520 M, 570_470
G,520_ 570 N, 570_520
10 optimal colours (o) Yy, =100, Y\BR
8 of maximum (m) Cpg for Q00

in chromatc value diagram (A, By)

=100 max: 490_77(
min: 380_490

CEX90-7N

CEX90-8N

B2 = 2,58 (b~ b)Y
2y = ago [(X=x)/Y]

b = byo [2/4]
ay=1,byp=-0,4

%o = 0,110 B, = 0,700
n = QO

0
Cap ~IAZ+BT?
Name and spectral range53
Rm 570_770 ¥, 520_770
Gm 470_570 G, 380_570
Bmn 380_520 M,570_470 25
G, 520 570 N, 570_520
10 optimal colours (0) Y,,=100, Y\=0
8 of maximum (m) Cg for Q00
in chromatic value diagram (A,, B,)

=100 max: 490_77(
min: 380_490

CEX91-7N

CEX91-8N

TUB-test chart CEX9; Chromatic adaptation of the antichromatic LMS22-colour vision model

Ostwaldoptimal colours for eight illuminants D65, D50, P40, A0OO, E0O, C00, P00, Q00
] M Y [0) L
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